Power Deposition in 16 x-Slices of a 65-mrad Tilted Graphite Target
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4 MW beam power, 6.75 GeV beam kinetic energy.
Beam spot has rms radius of 2 mm at the target center, 3* = 80 cm.

The peak energy deposition is 3598 J/g (~ same as for the 0° case),
and occurs for (x,y,z) = (-0.35, 2.45, -37.5) cm (2.5 cm into the target).
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Trajectory of the central proton ray for 65-mrad tilt and 20-T field.

CENTROID TRJCT FOR -40.0<z<40.0cm IN C TARGET REGION AND 2nd ORDER POLYNOMIAL FIT CENTROID TRJICT FOR -40.0<z<40.0cm IN CTARGET REGION AND 1st ORDER POLYNOMIAL FIT
x (z)=-0.012362 + 0.00053258 * z - 0.00025242 * z\2 y (z)=0.051594 - 0.064267 * z
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TDPD (mWI/g) 0.7 <x<0.8 cm
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TDPD (mW/g) 0.6 <x < 0.7 cm
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TDPD (mWI/g) 0.5<x<0.6cm
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TDPD (mWI/g) 0.4<x<0.5cm
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TDPD (mWI/g) 0.3<x<0.4cm
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TDPD (mW/g) 0.2 < x < 0.3 cm —E |
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TDPD (mWI/g) 0.1 <x<0.2cm
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TDPD (mW/g) 0.0<x<0.1cm
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TDPD (mWI/g) -0.2<x<-0.1cm
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TDPD (mW/g) -0.3<x <-0.2cm
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TDPD (mW/g) -0.5 < x < -0.4 cm
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TDPD (mW/g) -0.6 <x <-0.5cm
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TDPD (mW/g) -0.8 <x<-0.7¢cm
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